8.3

1. (1)y=%e3x —sinx + C,x + C,;

(2)y=C,¢" —%xz -x+C,;

(3)y=1+C,e""(C,#0);

(4)y=C,e™ +Cye ™ + (Cyco83x + C,sin3x) ;

(5)y=Ce ™" +Cye™ +C,e™;

(6)y=C, +(C, +Cyx)cosx + (C, + Csx) sinx;
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(T)y=e '(Clcosgx+czsingx) +?x B

X

(8)y =C, cosax + C,sinax + © =3
1+a

_ 3 x i _i . .
(9)y=e"(C, +C,x) +e (25005x 25smx),

. 1 . sinx cosx
(10)y=C1005x+C251nx+?e T,
C 3
(1l)y=C1x2+72+xf;
x 5
C 2
(12)y=—L+Cx* +C, -2
x 2

(13)y =Inxsinlnx + C, coslnx + C, sinlnx ;
(14)Iny =C,e" +Cre™";
(1)) =C, /€, + (s T4 y =, JREH o +2u'2 =0’ =0) 5
(16)y=C,e" +C e'x’;
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(1) =Ce 4 Coe ™ 4 e (R 5/ = 50 o = = 25 ARASEOT R, ATl " - = ™).

2. (l)yz%; (2)y=(2 +x)e_%; (3)y =3e "sindx;
(x-2)
(4) y=e"'—e " +x(x—1)e"; (5)y =arcsinx; (6)y=267x—2€7x—2x(x+%)eﬂ.

3. y=C,e" +C,x° +3.
5. y=C,x + C,x> =3xlnx.
6. o= —3’6:2’ Y= -1, jﬁﬁﬁéﬂgy:(]lex+cze2x+xex.
7. x:Clel+Czef'—%cosl.
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